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@ The salaries of A, B and C in the ratio 2 : 3 : 5. If increment of 15%, u

10% and 20% are allowed respectively to their salary, then what will
be the new ratio of their salaries?
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Iflog, x + logl(, X+ l0oges X+ l0gy56 X=25/6 then the value of x is
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A bag hasg 105 coins C(;aining some 50 paise, and 25 paise coins. The
ratio of the number of these coins is 4: 3. The total value (in X) in the

bag is
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If loglo@b x and loglo@: y, then the value of logo 120 can be
expressed as - ‘
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N 2
Find the value of log (x) if log (x) + 2 log(x?) + 3 log (x°) = 14.
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@Incomes of R and S are in the ratio 7: 9 and their expenditures are in the ratio u
4: 5. Their total expenditure is qual to income of R. What is the ratio of their

savings?
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@In a department, the number of males and females are in the ratio 3: 2. If two u
males and 5 females join department, then the ratio becomes 1: 1, initially the

number of female in the department is
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for some a and b, then the value of x is R
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@ Find the value of z from
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Find the value of 3:7 [June 2022]
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@ lflogaQ/I?/:ﬂ %, find the value of a [June 2022]
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@ If log, 2 =y and log,, 3 = x, then the value of log;, 15 is:
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@ log, 4. log, 5 log. 7.log, 8.logg 9 equal to:
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@ By simplifying (2a3 b*)¢ / (433@ x(a%b?), the answer will be
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@ A group of 400 soldiers posted at border area had a provision for 31 u
days. After 28 days 280 from this group were called back. Find the
number of days for which the remaining rations will be sufficient?
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@ A sum of money is to be distributedamong A, B, C, D in the
proportion of 5 2:4:3. IfCgetsR @ ore than D, what is B's

share?
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If V_ + 3\/_ b + 3{/_ 0 then find the value oﬁ“) z
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@ Given that logipx =m+n—1 and log 9 Yy = m — n, the value of

I 100x - | :
0910 3 expressed intermsof mand n is

[June 2023}

v
D 1—m+3n\/ /{ﬂg\o(mo”—bﬂl—.—@aLTL

" Q\Mﬁl? + Lo X —1&33}
m—1+3n o *

\
=) A4 wtn- 2 (=)
. R

L =) | -wEdn







